No.l Z+ 100m 8 AARL— N
SEEULT FA DL —ARE
AR X5 FREfE FiH K4 FrEgro7 4 @k
1 Z+ 8L 100m fEAARL— 5 P A-1SS 8 C 1 4471 24
2 &+  8EELLF  100m ff] AARL — M A5 VR RTEE: 7T C 1 4y 56 7 13
3 & SELLF 100m fE AARL— R RS H] ARV 2ZBEHE 7T C 1 4 57 # 0l
4 #F 8EELLT  100m {AAARL— R A VR RAEE 7 C 1 4y 57 Fb 27
5 &t 8T 100m fAAARL— s EX VR AEE 7 C 2 4y 06 Fb 49
6 L+ 8EELLF  100m ff] AARL — ;A B AR~ 8 C 2 4 12 B 18
1 ¥ ST 100m A AARL — s HMETH VR ATEE 8 B 1 4y 45 ¥ 85
2 o 8ELLT  100m fH AARL— JISG = BLE~/L>TSC 8 B 1 447 B 79
3 L+ SELLT  100m fHAARL— VIS Ah~ S 8 B 1 4y 53 80
4 #F 8EELLT  100m {AAARL— HE Xz Ah~ B 7 B 1 4y 54 B 21
1 %% 8T 100m fHAARL — s ¥ RSCE 1 8 OP 1 4y 25 % 58
2 ¥  S8LLT  100m fHAARL— AR SEFD VR ATEE: 8 OP 1 4y 27 # 52
No2 HBF 100m fHAARL— S
1 B+ 8mLAF 100m fHAARL — FIl &tk NP ZEE T C 2 4y 02 F 68
2 By 8T 100m AEAARL— AK AR VAP AEE 8 C 2 4 156 B 91
BT 8L 100m fAAARL— =k #EZI ELE<)lLTSC 7 C X o Y
BY 8mLLT  100m fAAARL— el N WA AHE 6 C X o A
1 BF ST 100m fHAARL — /N gL HtE~</LxTSC 7 B 1 4 41 # 28
2 BF  8LT 100m fAAARL— JNE BT BLhE~/L>TSC 8 B 1 4 50 & 07
1 B+ 8L 100m fEAARL— Bl S RSC& + 8 OP 1 4y 35 % 60
2 BF  8LT 100m fAAARL— N C YN VR RTEEE T OP 1 4y 35 # 60
3 B+ S8WLUT 100m fAAARL— A R VR ATEE 8 OP 1 4y 39 # 07
4 BF  8ELLT  100m {AAARL— AR HE ELE</LxTSC 8 OP 1 4y 40 # 79
5 BF  8ELLT  100m {AAARL— KA A A-1SS 8 OP 1 4y 46 b 49
6 B+ ST 100m fAAARL— FRL RO VR ATEEE 8 OP 1 4y 48 b 06
No.3 Z+ 100m {8 AARL— N
925 — 10%% SA DL —ARE
1 &+ 9—104% 100m fEHAARL— 2l R BEhwm~1xTSC 9 C 1 % 47 # 66
1 &F 9—10m% 100m fAAARL — JIlE #0F ARV ZEEHEE 9 B 1 4y 30 b 52
2 I+ 9—10 100m fEl AARL — AH HE HhEm<1xTSC 10 B 1 4 33 # 13
3 L+ 9—10 100m fEl AARL — G DA RSCHE 1 10 B 1 4333% 90
4 #Z+ 9—104% 100m fEH AARL— flexe A BEER RSCH & 9 B 1 4336 % 30
5 I+ 9—10 100m fEl AARL — e &7 HRELSC 10 B 1 4345 % 50
1 ¥ 9—10s% 100m {EAARL — HH HEEE RSCH + 10 OP 1 4y 28 # 26
2 I+ 9—10 100m fEl AARL — —I Ay JLRYRVEE 9 OP 1 4y 30 # 95



No4 B+ 100m fEAARL—

9% — 10 SA DL — AR
1 B+ 9—105% 100m fEHAARL— BE HFKX BEhwm~1xSC 9 C 1 4 41 # 79
2 B+ 9—10m 100m fEl AARL — L R LR RWEEE 10 C 1 4y 46 b 44
3 B+ 9—10m 100m fEl AARL — By 5 HELSC 10 C 1 43547% 89
4 B+ 9—105% 100m fEHAARL— i BE HhE<1xTSC 10 C 2 4 10 # 61
1 B+ 9—10i% 100m fEHAARL— R EE RSCHE 1 10 B 1 4325 % 08
2 BY 9—10% 100m {HAARL— PR e RSCH* 10 B 1 4y 28 % 11
3 BY  9—10% 100m {HAARL— FRUE A& A~ 9 B 1 4y 37T B 16
4 BF  9—10m 100m fAAARL — =8y BEsh RSCH* 9 B 1 437867
1 B+ 9—10i% 100m fEHAARL— LR RSCH & 10 OP 1 4y 24 % 31

No5 ZF 100m fEAARL — —
1 ¥ 11—12% 100m fHAARL — /NEOBRA BLE~/LxTSC 11 C 1 4y 42 ¥ 25
1 ZF 11—12;% 100m {EHAARL — By RLER RSCE 1 11 B 1 %4y 33# 02
2 L 11—128 100m fH AARL — L AR RSC& + 12 B 1 %4y 34 % 99
1 ZF 11—12;% 100m {EHAARL — A O RSCE 11 OP 1 %4y 30 # 76

58 % B8 AAR A ) Cian 5y 30

No6 EF 100m fEAARL— —

1155 —125% SA DL — AR
1 B+ 11—12% 100m {8 AARL — AR BEA RSCE+ 11 C 1 %258 19
2 B+ 11—12% 100m fEl AARL — FEE R RSCHE & 11 C 1 4y34% 27
1 B+ 11—12% 100m {8 AARL — Pasan iz e RSCE+ 12 B 1 4 14 % 95
2 B+ 11—12% 100m fEl AARL — = BA JLRYRWEE 11 B 1 4y 21 # 12
3 BF 11—12% 100m AAARL— RE & RSCE+ 11 B 1 %428 F 80
1 BF 4 100m AAARL— xR & VR AREHE 13 OP 1 43 20 B 03



N7 &L+ 25m HHEFE S

UN=Z P ST FA DL —ARE
1 Z+ /ARG 25m HHE H Bz A-1SS 5 33 b 20

N9 ¥+ 25m BHFE S

8L T SA DL — AR
1 2+ 8T  25m HHE 15 P A-1SS 8 19 ¥ 94
2 ¥ 8WLAT  25m HHE PR THOAD FAEZESC 8 21 # 95
3 L+ SWLUT 26m  HEE Bals kv VAP AR 8 22 7 16
4 I+ 8ELLT  25m HHE B HE+SC 8 24 F 33
5 & 8T  25m HHEE FhEF EREE RSCE 1 8 25 ¥ 00
6 1 8T 25m ENEEpiA MR B RSCE 1 8 26 Fb 52
7 & SELLTF  25m  HHEE SR BR RSCE+ 8 26 B 77
8 &+ 8T 25m EN=FiZ JIa ek T E</LTSC 6 27 ¥ 87
9 &+ 8T 25m HHE IR BER RSCE+ 7 31 # 18
10 2+ SwLl T  25m HHE B &L RSCE+ 6 34 # 01
11 %+ S8wLlT  25m HHE HE Bk HE+SC 6 36 b 95
12 Zf SLLF  256m HHE WS E #or HE 1SC 6 37 ® 50

Nol0 B+ 256m HHEE S

8L T SA DL —ARE
1 B+ 8mblF  25m HHE 2PN RSCE 1= 8 22 ¥ 38
2 BY 8T 25m HHE (R RN VARG ATRE 6 22 b 63
3 BY 8T 25m H % K 23 H4Em< L TSC 7 23 ® 15
4 B+ 8L 25m HBEE T wA RSCHE 1= 7 24 ®b 17
5 B 8WLLF  256m HEE JIE —KBA RSCEH* 6 24 7 81
6 B+ ST 256m HHEFE TR BEE RSCEHE* 8 29 £ 66
7 B1 SELLT  25m HHE W Ak RSCHE 1= 6 31 ®b 85
8 W+ SmLLF  256m HAE T ik LRV AR 6 32 b 59
9 B+ ST 256m HHEFE P RSCEHE* 6 37T ® 71

Noll &¥ 25m HBHFE o
1 Zf 9—10i% 25m  HHP MR S HEtsC 9 23 £ 92
2 Tt 9—10iE 25m H HE fREE %) RSC& + 9 29 ®b 48

Nol2 B+ 256m HHEE S

9% — 108% SA DL — AR
1 B+ 9—105% 25m HHBEE HEAR WA HELSC 10 21 ¥ 95
2 B+ 9—10m 25m HHE i N RSCHE 1= 10 22 Fb 65



No.l15 ZF 100m

HIkE

9% — 101% SA DL — AR
I 1 9—10m 100m K ik EE RSCE 1 10 B 1 4326 % 40
1 ¥ 9—10m 100m  HIKE e B A= 10 OP 1 4y 17 # 10
2 ¥ 9—10sEk 100m  HIKE He &55 AR~ 9 OP 1 4y 25 B 19
No.16 B+ 100m kX S
1 B+ 9—10m 100m  FHIKE FRUE A5 A~ 9 C 1 4y 37 ) 98
No.l18 B+ 100m ik S
115 —128% SA DL — AR
I B4 11—12m 100m  HKE SR ] RSCE 1= 11 B 1 4324 % 56
1 B¢ 11—12% 100m k& 1= K& AR 11 OP 1 4y 15 # 23
No.20 B+ 100m KX S
A B A KL — AU B
1 B+ BE4A 100m {5kE A% BA AR~ B 14 OP 1 4 07 # 01
2 By fiEAE 100m EERE 1= A AR~ B 15 OP 1 4 07 # 50
3 B FEA 100m BHIKE HH e A-1SS 14 OP 1 %4 17 % 14
4 B+ A 100m HIKE JI BER RSCEL 14 OP 1 4y 43 # 79



No23 &+ 50m HHEFE _
8L T FA DL —ARE

1 &+ 8Ll F 50m  HHEE IR A NP A E T C 47 b 56

2 f SWLLF  50m HMEE il ZEE ANl 7T C 48 b 41

3 & 8LAT  50m H B AR Ak NP AHE 7T C 49 Fb 87

4 £+ 8LLF  50m  HHIE s H %EH HE1-SC 7 C 50 b 52

5 &f 8SWLLF  50m  HHE ¥ ok NP AR E T C 51 # 71

6 1 SWLLF 50m @ HMHFE % AR B+E~/LTSC 8 C 52 b 06

7 & 8ELLF  50m  HMEE FH #Eg AU HES; 8 C 55 b 44

8 L SWLLF 50m @ HHFE WA i A= HES; 8 C 55 b 61

9 &L+ SWELLF 50m @ HHFE s S Ak A S 7T C 1 4 04 B 04

10 &+ S8LLF 50m  HHE R T Ah=U S, 6 C 1 4y 08 B 7T

1 &+ 8Ll F 50m  HHEE BT T FAEFESC 7 B 41 7 74

2 &+ SELLF 50m  HHE R A~ Y 7B 46 Fb 24

3 &+ SELLF 50m  HHE M &2 AN~ 7T B 46 T 56

4 L 8T 50m HHE -l E RSCE* 8 B 56 #b 74

1 %+ 8Ll T 50m HHE kG ¥ RSCE * 8 OP 35 F 66

2 & 8T 50m HHE L7 N (% HE ESC 8 OP 40 F» 13

3 &+ SELLF 50m  HHE s Heh B RAEEE 8 OP 42 ¥ 54

4 #+  8LLF  50m  HHIE HH R A~ Y 7 OP 43 b 24
No24 B+ 50m BHFE S
8L T SA L =2

1 B+ 8mLlF 50m  HHEE M —2ZIr HUE 1:SC 8 C 49 ¥ 15

2 By 8Ll 50m H B HE 2 HE+ESC 8 C 51 # 26

3 By 8L 50m H B TR B AU lEY: 60 C 53 # 23

4 By 8Ll T 50m HHE EE] A HE+SC 6 C 53 # 26

5 B+ SWLLF 50m  HHIE FIl &t NP ARE T C 54 ) 66

6 B+ SWLLF 50m @ HHFE K st BFLE~/LTSC 7 C 56 b 41

7 B+ 8L F 50m  HHE RS FAH AFRHUREE 8 C 1 4 02 30

8 B+ SWLLF 50m HHIE JIlE kA4 A~ 6 C 1 4y 05 B 79

1 B¢ 8Ll F  50m ENEEpiA N HtE</1xTSC 8 B 46 F» 25

BHF 8LL T 50m HHE =K 2z BlLE<lxTSC 7 B X 52 vy

B+ 8T 50m HHE BRI PN I SRS S B = o y

1 B+ 8mLLF  50m ENEEpiA A BHE ZEhwm</1xSC 8 OP 37 B 17

2 B+ SWLLF 50m  HHIE A Rt TP UAEE 8 OP 41 B 11

3 B+ SWLLF 50m HHIE il K TP UAEE 8 OP 42 07

4 W+ 8@LLF  50m HHE Eda B RSC& 1 7 OP 44 b 44



No25 &+ 50m HHEFE S
98% — 105 FA DL —ARE

1 %+ 9—10% 50m HHE TEHE Fi A-1SS 9 C 43 F 37

2 F 9—10E 50m HHBEE EH —%# Ah~ Al 9 C 44 ¥ 83

3 L+ 9—10E 50m HHBEE NI NEFUREE 9 C 45 ¥ 32

4 #+F 9—I105% 50m HHE &R K% RSCHE 1= 10 C 53 Fb 84

-+ 9—10i% 50m HHE BE WA RSCHE 1 10 C X o y

1 &+ 9—105% 50m HHBEE KO FHHE FEFESC 9 B 36 fb 84

2 F 9—10E 50m HHBEE WiE RSCHE +- 10 B 37 ¥ 00

3 & 9—10 50m HMHFE JIE B HEthEm<1xSC 9 B 37 # 81

4 4t 9—10 50m  HHMHE JIIvE #b2 NV AHE 9 B 38 b 17

5 &f 9—10 50m  HMHFE B TRk A~ fHES 10 B 38 b 52

6 L+ 9—10m 50m HHBEE LG DA RSCHE 1= 10 B 39 B 72

7 ¥ 9—10% 50m HHBEE g &7 HELSC 10 B 40 ¥ 19

8 L+ 9—10E 50m HHBEE flex A BEER RSCHE +- 9 B 40 ¥ 99

1 &+ 9—105% 50m HHE EN N e RSCHE 1= 10 OP 37 b 35

ZF 9—10% 5H50m HHEE H PHE Ah< B 10 OP & 5 vy
No26 B+ 50m BHFE S

1 B% 9—10i% 50m H HE =y 5 HE 1SC 10 C 40 £ 49

2 BF 9—10 50m HHE R R AP ARE 10 C 42 ¥ 28

3 BF 9—10 50m HHE FRoT BOR A= EsE 100 C 46 b 14

4 BY  9—10s 50m H H’ ITHE BE EhEm</1xSC 10 C 53 ® 73

1 B¢ 9—10i% 50m HHFE RATIRT RSCE+ 9 B 36 b 63

2 BF 9—10 50m HHE INEE —HE NAYFUAEE 9 B 36 b 92

3 BY  9—10s 50m EN==FiZ 1By 5 HEESC 9 B 37 ®b 98

4 BF 9—10 50m EN==FiZ JIE B A= 9 B 38 ®b 22

5 B¢ 9—10s 50m EN=FiZ By BE=F RSCE 1 9 B 38 ®b 41

6 BF 9—108 50m B HE LB K AP UAEE 10 B 39 ®b 42

1 B+ 9—10s% 50m HHFE Veflg AT A= 9 OP 33 ¥ 04
No27 &+ 50m HHEE S
115 — 125 SA DL — AR

1 &+ 11—12m 50m HHBEE SUSE IR RSCE 1= 12 C 41 ¥ 28

1 &F 11—12 50m HHE b I VA UATEE 11 B 32 b 72

2 & 11—12% 50m HMAE a3 RSCH + 11 B 33 ® 92

3 &% 11—12i% 50m H B W 3 RSCHE 1 11 B 35 Fb 65

4 ¥ 11—12s% 50m HBEE 1y RLR RSCHE 1= 11 B 35 Fb 74

5 %1 11—128 50m  HHFE L AR, RSCE + 12 B 35 # 98

6 ZF 11—12i% 50m HHE B e Ah~ B 11 B 36 b 95

7 &#F 11—125% 50m HHE W #HR RSCHE 1= 11 B 40 ¥ 64

8 ¥+ 11—12i% 50m HHE B i RSCHE 1= 11 B 41 ¥ 05

¥ 11—12i% 50m H B xR LR RSCE 1= 11 B X o y

1 &+ 11—12% 50m  HHE e ME RSCEH* 11 OP 32 # 88



No.28 50m HHF i
Vi o T FADL AR

1 B+ 11—12% 50m  HHAEE FHE et RSCEL 11 C 39 # 29

2 By 11—126% 50m  HEE fRda At RSCE+ 12 C 40 F 40

1 B¥ 11—125% 50m  HHEE MR 0 A HEY 12 B 33 15

2 B 11—12% 50m  HHEE xR FEIE RSCEE 11 B 34 % 08

3 B+ 11—12i% 50m  HEE AR BEA RSCE+ 11 B 34 £ 70

4 BF 11—12% 50m  HBEF A RSCE+ 11 B 37 B 11

1 BF 11—12% 50m  HHEF i B RSCE+ 12 OP 29 £ 38
No.29 50 Z .

1 v %A 50m HETE LR Ah~ AL 14 OP 30 Fb 55

2 ¥ WA 50m HEE AR % VAP ARE 13 OP 32 # 69

3 & WA 50m HEE B #K VAP ARE 15 OP 33 Fb 42

4 f EE 50m HME LIP3 NFFUARHE 12 OP 35 1 22

5 7 A 50m HEE =y RSCEL 12 OP 42 ¥ 63

47 A 50m HEE NP EA3E AR~ 13 OP (DR
No.30 50m Z -

1 B+ w®H%4 50m  HHEE [CASI A-1SS 15 OP 27 ¥ 98

o By A 50m HEE JIE B A-1SS 13 OP 28 # 19

3 By A& 50m HEE MRH Rk AN B 14 OP 28 B 70

4 By A 50m HEE FEH B2 A-1SS 14 OP 29 ¥ 03

5 By A 50m HEE 23N YN A-1SS 14 OP 29 # 13

6 B A 50m HME ey A RSCEL 13 OP 30 £ 72

7 BY 4 50m HAE e N NFPREE 13 OP 31 ¥ 84

8 WY WA 50m HEF R BHE RSCE+ 13 OP 33 £ 35

9 By A 50m HHEE JIA K3 RSCE+ 13 OP 33 75

10 B+ ek 50m HEE i RSCEL 13 OP 39 £ 18
No31 &ZF 25m HR¥v7 it B
AT g AL AR

I 2o NFAERN 26m #eev” i ZR5E RSCH& & 6 31 ¥ 93

9 Ao F AR 25m MFv” R A-1SS 5 38 # 37



No.35 &+ 25m ¥ 754 i
SEELLT AL =R
1 &+ 8wLLF  256m R¥79A4 JIlv = L E</LTSC 8 20 b 96
2 & SELLF  26m R¥TTA W AR RSCHE 1 8 25 b 75
3 & SELLF  26m X TTA FE ZEmh HELSC 8 27 ¥ 54
No.36 B+ 25m ¥ 754 ik
SEELLTF HA L — A
1 B+ SmLLF 256m Z79A KA & A-1SS 8 20 £ 93
2 B+ SELLT  256m ¥ TIA ER e HEESC 6 28 ¥ 60
No.37 &+ 25m ¥ 754 i
9% —101% SA DL — AR
I ¥ 9—10m 25m /\¥7TA TEiE Ei A-1SS 9 21 ¥ 48
2 L 9—10 25m N\HTTA T 2Eg RSCH* 9 26 £ 42



No41l #F 100m

FkE

9% — 101% SA DL — AR
I 1 9—10m 100m k& B X ‘g5+tE~/LxTSC 10 OP 4y 24 Fb 90
2 £ 9—10m 100m K& HfTHEN BE RSCEH* 10 OP 4y 30 ¥ 69
3 & 9—10m 100m  FIKkE B &£ ‘H+HE~/LxTSC 10 OP 4y 34 Fb 72
No42 BEF 100m FykxE N
1 B% 9—10i% 100m  Fpkx BlE FA 2 LhEm<w/LxSC 9 C 4y 53 b 65
1 B% 9—10i% 100m  Fpkx RATTIN RSCE + 9 B 2y 44 Fb 46
No43 ZF 100m FpkX e o
115 —128% SA DL — AR
T &+ 1l—12r% 100m  Fik= VoD At T~ S 11 0P 1 7y 23 B 07
2 o 11—12%% 100m k& oA HE ‘H+HE~/LxTSC 12 OP 4y 24 ¥ 96
No44 BEF 100m FykE N
1 B% 11—125% 100m  Fpkx Yerx K EIE RSCH + 11 B 4y 31 0 08
2 B 11—128 100m kX a4k RSC&E 1 11 B 4y 36 £ 09
No46 HBF 100m FpkX e o
H A ZA DL — AR
T B T4 100m  Fk= TE T~ S 15 0P 1 72y 10 B 22
2 By hEFAE 100m FKE JIu Ik ‘Hhm~/1xSC 13 OP 4y 21 0 45



Nod9 Z+ 50m ¥ 754 S
N L —RA
1 %+ 8wLLF 50m R¥75A4 Y ok AP UREE T C 4y 07 B 71
L 2z 8LhF  50m  AFTTA LTI FHeEsC 7 B AT 1 64
2 & SELLF  50m  RF¥TTA R ZRSE A=Y 8 B 49 F 12
3 & 8L 50m RHTTA B R AN~ HEY; 7T B 49 ¥ 50
1 Zef 8mLAT  50m  A~FTTA At ¥ RSCE+ 8 OP 39 ) 02
2 & SELLF  50m X TTA RLAR S2F0 AP UATEE 8 OP 40 F 92
No50 B+ 50m 2RF¥Z754 N
N DL —RA
1 BF 8mLlF 50m ¥ 75A JNEER B LE~/)L>TSC 8 C 54 # 91
1 B+ S8mLLF 50m \¥7IA NE L HtE</LxTSC 7 B 48 b 04
2 BY 8T 50m AHTTA W EEk RSCE + 8 B 49 b 89
3 B+ S8WLUT 50m ANFT7IA e & RSC& + 7 B 53 Fb 82
1 B+ S8mLLF 50m \¥7IA RSN IR AEE T OP 43 F 05
2 BY 8T 50m AHTIA R R IR AHE 8 OP 44 F 99
3 B+ 8ELLF  50m ¥ TTIA ARl 5 RSCE 1 8 OP 46 b 15
4 B+ 8mLLF 50m NF¥T7IA AR R IR AHE 8 OP 46 ¥ 38
Nobl &LF 50m ¥ T757A4 S
9% — 108% SA DL — AR
I Zf 9—10% 50m N¥T7IA NS FHEFESC 9 C 43 ¥ 03
1 Z+ 9—105% 50m ¥ T754 EiE EE RSCHE+ 10 B 38 b 97
2 ¥ 9—10 50m NFTTA BROERA NEYUATEE 9 B 41 F 14
3 &Y 9—10k 50m NFTTA A WA RSCE+ 10 B 43 # 43
4 ¥ 9—105% 50m NETTA ZN N e RSCE L 10 B 41 # 23
5 ¢ 9—10 50m AFTTA —I WAy VAP UATEE 9 B 40 b 78
6 Zf 9—10 50m NFTTA JIE ok HEthwm~<1xTSC 9 B 41 ¥ 25
1 &F 9—108% 50m /¥ 75A HeH EEE RSCE+- 10 OP 41 # 26
2 Zf 9—10 50m NHTTA iz Y RSCE+- 9 OP 40 b 29
No52 B+ 50m RF¥Z754 N
L 57 9—10i% 50m ~FT77A TG A Ah~UHEY; 9 C 46 £ 49
L 57 9—10i% 50m /~FT7TA IR VFFABEE 9 B 42 B 24
2 B¥ 9—10m 50m ~FTTA et N NAYAREE: 10 B 39 # 75



Nob3 &+ 50m 2X¥Z754 N
115 —128% SA DL — AR

1 &+ 11—12m 50m ¥ T75A4 e A RSCH + 11 B 35 ®b 26

2 &F 11—125% 50m AFT7TA b5 #B8 VA URATEE 11 B 36 Fb 42

3 &ZF 11—12s% 50m NFT75A W 3 RSC& + 11 B 40 ¥ 96

4 #HF 11—125% 50m NEZTIA M #HR RSC& + 11 B 45 ¥ 61

7+ 11—12% 50m FT7IA tex K BBAER RSCHE 1 11 B F y

1 ¥ 11—12% 50m ¥ 7IA A AL RSCE L 11 OP 34 % 88

2 &F 11—125% 50m AFT7TA M Fis A=Al 11 OP 36 b 92
Nob4 BHF 50m RF¥7I7A —

1 BF 11—125% 50m ~ZT754 =i BA AP AEE 11 B 34 b 09
Nob6 B+ 50m ¥ 754 N
HrA HA L — AP

1 B $E%A 50m NETIA [ Nt VAR UATEE 13 OP 34 ®) 56

2 By FFAE 50m ANFTIA R BHE RSCH + 13 OP 38 # 01



No57 ZF 200m fAAARL— S
9% —10% SA DL — AR

1 &+ 9—10k% 200m fEH AARL— 2 R Bhw~1xTSC 9 C 4 4 02 # 74

1 &+ 9—104% 200m fEHAARL— B &£ BEhE<1xTSC 10 B 3 4 07 # 84

2 I+ 9—10 200m fil AARL — AR HIEE FEFESC 9 B 3 413 % 36

3 L+ 9—10m 200m fEl AARL — OB LAY RWEE 9 B3 4y 20 B 51

4 #Z+ 9—10k% 200m fEH AARL— AH HE HhEm<1xTSC 10 B 3 4 22 # 26

1 &F 9—10m% 200m fAAARL — A EX BLE~/LTSC 10 OP 2 4y 48 Fb 13

2 I+ 9—10 200m fi AARL — HITEAN BE& RSCHE 1= 10 OP 3 4y 01 # 29
No58 HEF 200m fEAARL— N

1 BF 9—10i% 200m fEAARL— EB KEH LR REEE 10 B 3 4y 17 b 39

2 B7  9—105% 200m {AAARL— U= HESC 9 B 3 429 # 00

3 B 9—10s 200m {HAARL— B W HE+SC 9 B 3 439 f 50

1 BF ST 200m {HAARL — Veflg I AU 9 OP 2 4y 56 # 60

2 BY 9—10 200m fHAARL— H LB RSCE 1 10 OP 3 4y 03 # 39

3 B+ 9—10m 200m fE AARL — += A Ah= S 8 OP 3 4y 11 B 86
No59 ZF 200m fAAARL— S
1155 — 125 SA DL — AR

T L7 11—122 200m [E AL — ETaTES T~ g 11 C 3 %y 24 B 11

2 T+ 11—12r% 200m fil AARL — M e HE+SC 12 C 3 4341 % 16

1 ¥ 11—12r% 200m A AARL — B CEE RSCEH* 12 B 2 4y 44 26

2 T+ 11—12r% 200m fil AARL — PR Rk A= 11 B3 4y 00 B 12

3 &+ 11—12% 200m fil AARL — i A RSCHE 1= 11 B 3 4305 % 25

4+ 11—12 200m 8 AARL — HaE O RSCE+ 11 B 3 %4 14 8 97

ZF 11—125% 200m fH AARL— xR LR RSCHE 1 11 B X o y
No60 EF 200m fEAARL— N

1 B% 11—12i% 200m {EHAARL— R BEA RSCH + 11 B 3 %y 08 # 67

1 B% 11—12i% 200m {EHAARL — JR G RSCE 1 12 OP 2 %4y 36 # 77

2 B 11—128 200m fH AARL— er K BHIE RSC& + 11 OP 2 %4y 54 # 05



No61 ZF 200m fAAARL—

A FA DL — AP

1 & WA 200m fHAARL — e = NP UAEE 12 OP 3 4y 01 # 21

2 e R4 200m HAARL— B B4 VB AEE 15 OP 3 4y 01 # 29

3 & A 200m AAARL— AR Jh%E VAP AEE 13 OP 3 4y 05 b 73
No.62 200 L— S

1 B+ B4 200m HAARL— NITE 5 AR~ B 12 OP 2 4 40 # 35

2 By figd 200m HAARL— JIS EEIK B hE~/L>TSC 13 OP 2 4y 55 Fb 26

3 By figAd 200m HAARL— 28 FHE RSCE 1 13 OP 3 43 04 # 65

By g4 200m fHAARL— =i Eil Ah= B 13 OP &= F vy
No.65 256m kX S

1 Z+ SikLAF  25m k& ek o & LE~/LxSC 8 28 ¥ 73

2 L SWLLF 25m FKE Rars M1 VAP AR E 8 29 b 69

3 LF SHLUT  25m EkE PR THOAT FAEESC 8 31 # 10

4 %o SEELLT 26m EKE YH B RSCHE 1= 8 32 Fb 38

5 & 8ELLF 26m FEKE DR AN RSCHE 1= 8 34 Fb 37

6 L+ ST  25m  EkE MR s RSCEH* 8 34 # 58

7 L+ SWLLT  25m  FkE s fhsE VAP ATEE 6 36 b 86

8 &+ ST  25m  EkE IINER SR RSCEHE* 7 43 F 34
No.66 25 kX S
g6 2T 2om AR B4 DL — AP

1 B+ SmLAF  256m  FkE B[ 2 K NIV A 6 33 B 14
No.67 256m kX S
90%— ﬁ)% S SA DL —ARE

1 &+ 9—10% 256m  FpkE TN EEE RSCHE* 9 32 # 68

2 & 9—10mk 25m  PIKE et ®Jh RSCHE 1= 9 38 ®b 31
No.68 25 kX S
g8 B L om TS B4 L — AP

1 B% 9—10i% 26m  Fpkx SRR AN WESC 10 34 b 91



No.71 #F 100m

H B

1 %+ 9—10% 100m HHE FH HEEE RSCH + 10 B 1 %y 15 % 88
2 ¥ 9—10 100m HHEFE HITHAN BE& RSCE * 10 B 1 4318 % 72
3 ¥ 9—10 100m HHEFE EN N s RSCE * 10 B 1 4319 % 99
4 xf 9—10m 100m HHAHE B &£ HHE~</LTSC 10 B 1 4 20 # 31
1 ¥ 9—10m 100m HHAHE ek B A= 10 OP 1 4y 10 # 39
2 & 9—10 100m HHF M S55 A~ fHESE 9 OP 1 4y 14 ) 58
No.72 BF 100m BHFE -
1 BF% 9—10% 100m HHAFE N ATIRIN RSC&E* 9 B 1 4323 8 37
1 3% 9—10% 100m HHFE R EmE RSCH* 10 OP 1 43 14 # 48
2 W+ 9—10 100m HHFE TERE R AU HESE 10 OP 1 4y 15 7 02
No.73 &¥ 100m HHFE S
11— 125% FA DL —ARE
1 &+ 11—12% 100m HHE s H 3 WELESC 12 C 1 %4 29 B 79
1 & 11—12 100m HHAHE A AL RSCE * 11 B 1 43128 20
2 &Y 11—125% 100m HHEFE b5 #B8 LR RWEE 11 B 1 4y 12 # 43
No.74 BF 100m BHFE -
1 B+ 11—12m 100m HHFE IS ] RSC&E* 11 C 1 4516 > 56
No.75 100m 4 N
T &y W&  100m B [FETES Ah~ RS 14 OP L %y 07 B 12
2 ¥ hEFEAE 100m BHEE R FEZE FHERSC 14 OP 1 5 15 8 20
No.76 100 4 N
1 B+ %4 100m  HHEE EASI = A-1SS 15 OP 1 %7 01 # 08
2 B+ fFA 100m HEFE MR Fopk A~ 14 OP 1 4y 01 # 50
3 By %4 100m HEE A BE VAP UARE 16 OP 1 4y 04 7 46
4 By A 100m HEE TR AN A-1SS 14 OP 1 4% 04 # 54
5 By 4 100m HEE K e RSCEL 13 OP 1 4y 12 F 84



No.79 &F 50m ik e o
N AL —RA
T &1 8wl 50m  Jkx TolE ko v S, 7 C 1 2y 02 B 95
2 F SHLLT  50m  EkE I FEF] NEHAEE 7T C 1 4y 03 05
3 & SELLF 50m PEKE g AR RSCE 1= 8 C 1 4y05 % 24
4 &+  SHLLTF  50m  FkE EH R Ao E 8 C 1 4y 07 B 46
5 4 SHLLT  50m  EkE s HE %EAH HE+SC 7 C 1 4 13% 9
6 Zf S8LLTF  50m  FkE AL 5 A 2 RS 7T C 1 4y 14 B 15
1 2o 8@ 50m  CPkE ICREZE! A-1SS 8 B 54 B 25
2 F SHLT  50m  EkE A A NV AHE 7T B 58 £ 92
3 LF SHLUT  50m  EkE M A NV AHE 7T B 59 £ 96
4 L+ SEELAT 50m RkE RS R AU S, 8 B 1 4y 00 7 66
1 &+ S8mLULTF  50m  FkE RLAR 520 NV AHE 8 OP 48 F 74
No80 B+ 50m k¥ S
N Ll —R
1 B+ Sl 50m  FkE fRE EX A~ 6 C 1 4y 05 ) 48
2 B 8mLLT  50m Pk E AFS WHER ARV ZEHE 8 C 1 4y 05 b 78
3 B+ SmLLF  50m  FKE g —2Zar HESC 8 C 1 4310 % 94
Br 8@LLF  50m  FpkE =k #EZI BHthEm~1xTSC 7T C X F A
1 B+ SmELLTF  50m  PkE +)= A A~ 8 B 53 Fb 18
2 B+ SELLT  50m SEpkE /N GLER T4+ TSC 7 B 56 b 48
3 B+ 8ELLF 50m  FIkE A =5E HtE~/LxTSC 8 B 59 ®b 22
4 W+ 8mLLF  50m  FKE M 28 HESC 8 B 1 4300 F 85
By S8@LIF  50m  FpkE - TYN NP AHE 6 B X o A
1 B+ SmELLTF  50m  PkE W EER RSCE 1 8 OP 51 b 50
2 BF  8LLT  50m  EkE KA A A-1SS 8 OP 52 Fb 45
3 W+ SmLLF  50m  FKE AR NI AHE T OP 52 b 46
No81 &F 50m Yk e o
9% — 108% SA DL — AR
1+ 9—10% 50m  Fpk&E L NEEEE FEESC 9 C 53 # 53
2 F 9—10r% 50m Pk NI NV AHE 9 C 55 #b 43
3 & 9—10m 50m  PIKE Mg &7 HE+SC 10 C 55 fb 87
4 % 9—10m% 50m  PKE EH —% Ah~ Al 9 C 56 fb 73
5 &+ 9—10s% 50m Pk INBR - ER RSCH* 10 C 1 %4y 04 % 19
6 L+ 9—10% 50m Pk IR SEYE HELSC 9 C 1 %4y32%® ol
1 ¥ 9—10s% 50m  FpkX FeH HEEE RSCH + 10 B 47 ¥ 92
2 F 9—10r% 50m Pk JIIvE #bZ NV AHE 9 B 48 # 38
No82 BF¥ 50m FEpk=E S
1 B% 9—10s% 50m  Fpkx @A UES W 1SC 9 C 53 b 85
2 BF 9—10 50m Sk E o —5 HEESC 10 C 59 # 03
1 B¢ 9—10 50m  FikX e e RSC& + 10 B 46 5 00
2 BF 9—10 50m SR E =y e RSCE+ 9 B 53 ¥ 64
B 9—10 50m KX NP A~ Y 9 B OX o 'y
1 B+ 9—10i% 50m  FIkE JIE B A= 9 OP 43 b 59



No83 &F 50m ik e o

115 —128% SA DL — AR
1 Z+ 11—12m 50m Pk M 3 RSCE 1= 11 C 48 ¥ 30
2 o 11—12%% 50m k& B i RSCHE 1= 11 C 51 Fb 43
3 & 11—128% 50m k& NE BRA HtE~/1xTSC 11 C 55 Fb 47
1 &+ 11—12 50m  Fk& BE ZFERL RSCEHE* 12 B 39 # 10
2 H 11—12% 50m Pk hE ME RSCEHE* 11 B 41 # 60
3 &L 11—12% 50m k& e B3 RSCH + 11 B 43 7 44
4 o 11—12r% 50m  PKE R K Ah~ B 12 B 43 ¥ 59
5 % 11—12s% 50m Pk g A RSC& + 11 B 45 ¥ 59
6 &L 11—12m 50m k& B e Ah~ B 11 B 48 b 12
1 Z+ 11—12i% 50m k& ;A HhE ‘HtHE~/LxTSC 12 OP 39 B 75

No84 BF¥+ 50m FEpk=E S
1 B+ 11—12 50m SEpkE et RSCE + 12 B 42 # 61
2 B 11—12i% 50m Pk RE RSCE+ 11 B 46 b 32
1 B% 11—12 50m Pk F EE RSC& + 12 OP 37 b 80

No86 BF 50m kX S

A FA DL — AR
1 B  thEA 50m KR JIIERE RSCH* 13 OP 52 #) 32
2 By hEFAE 50m FKE [N EE =S RSCEHE* 13 OP 55 #) 56
3 By hEFEAE 50m FKE TR Eikd A=Ak 13 OP & o 'y



No89 ZTF 25m Ik
. HUKE
8Ll T H AL — AP
I kof 8B R 25m HKE
k& I S—
2 &7 8ELT  25m i;\ % Eﬂnfﬁ PE+- SR T 10
3 e UK IR TAOH %S it
LF SELLT  25m WUE o L 29 5 86
4 T SHELLF 25m iFIKE g B LE~/L=SC 6 31 7 33
TSN HK Tk PASSVZ 3 >
5 & f BELLT  26m  HikE NS RS 6 31 B 75
6 KT BELLT 25m  HKE g o Roca L 8 32 B 11
T SELT 26m ke g B N A 34 1 32
8 & 8LAT  26m  HHkE %% RSCH 1 6 35 fb 49
e RGNS SR R RSCE b
18 ii SEELLT  25m  ¥ikE mE g Rggii 7 35 Fb 96
8HLAT  25m Tk P o 6 40 # 79
Gl e e #E1-SC 6 A1 7 48
No90 BF 25m kE
8IRLLT B A BL— AP
1 B+ 8@ELLT 25m EEEvES
! KE Ry S —
2 BT SmLAT  25m ﬂ:w{;(g g%ﬁ ER AT A6 2% 1 12
3BT BELLT 26m  HAE L B R SC T 28 7 19
4 B+ 8L F  25m HUKE JIIDJﬁ #%?é RSC%i 7 28 F 99
5 1 SEUT  25m  f§ikE ; < RSCEHE 6 29 ¥ 82
H s W Bk RSC &+ -
6 5 SHLT  25m T WF i L 6 31 # 43
THT SHLT  25m IS waw AL G 39 1 75
& 6 140 b 64
No91 #F 25m EHIKE
91k — 105k H AL — AP
I 2 9—10m 26m  T5ik&
é K& 5B =
2 o 9—10m 25m dZﬁ(jk:g /Lgi L RSCEL 10 27 ) 22
—10%% - SRR K% RSCE + -~
3 &% 9—10i% 25m RN SO ] 10 29 #b
7 9—108 25m ifkg fIE R Ty RSCEL 9 30 B i
2 ﬁfK {%"l—'—' NS o //\
VS RSCE * 10 X ¥ Y
No92 B¥ 25m EHKE
9% — 107% FA DL — AP
1 B 9—10m% 25m B
R SRUN< LiE B2 T
2 B 9—10i 25m KX el Eaifs;ivfsc 10 26 0 99
& 10 29 & 99
No.}_‘go B+ 100m NFT75A
A FA DL — AP
L 57 Bk 100m NFTT
74 Y 5 — —
2 BF  thEk 100m ~HTIA m s 1 on 1408 B a6
A-1SS 13 OP 1 4309 % 26



No.103 #ZF 50m

HKE

8EE LT PADY —ARE:

1 &1 8mlhl  50m  Hikx L e T~ S 7 C 1 & 03 % 90

2 F SHLT  50m  EHKE Js 3 Al A U, 7T C 1 4y 08 b 87

1 &+ ST 50m Ik oK TERE HE +SC 8 B 49 # 69

2 L 8LLF  50m  EIKE BT FAEESC 7 B 49 # 75

3 LF SHLUT  50m  EKE JIu T-= H+E</TSC 8§ B 51 & 60

4 &+ SHELLTF  50m  EKRE HE ME Ah~ B T B 52 # 07

5 &+ 8LT  50m K TERE mEE Ah~ B T B 53 # 58

6 L+ ST 50m KT mH AR NV AHE 7T B 55 b 74

1 &+ ST 50m  HkE B #eTH NV AHE 8 OP 49 # 20
No.104 B+ 50m k= S

1 B+ S8mLLF  50m  HkE JII| B A AR~ B 6 C 1 4 10 B 28

1 B+ S8mLULF 50m  HKE e & RSCE 1 7 B 51 % 91

2 BY 8T 50m  EHKE i P oT= RSCE 1 8 B 52 b 11

3 W+ SmLLF  50m  PHKE MM ER A~ Y 60 B 55 Fb 28

1 B+ S8mLLF 50m  HKE ARl 5 RSCE 1 8 OP 45 b 89
No.105 ¥ 5H50m kX S
925 — 101% SA DL —ARE

1 %+ 9—10% 50m  FHkE NI NV AEE 9 C 51 # 31

2 & 9—10m 50m K 2 R HtHtE~/1LxTSC 9 C 52 Fb 18

3 & 9—10m 50m K EH —% Ah~ Ml 9 C 53 b 07

4 4 9—10% 50m  FHKE INBR B RSCEH* 10 C 59 & 02

1 2+ 9—10i% 50m KX ik EE RSCHE 1 10 B 41 Fb 24

2 Zf 9—10 50m  THKE AR FBREE FAEESC 9 B 42 ) 63

3 & 9—10 50m  THKE IR WAy NV UAHE 9 B 43 b 41

4 4 9—10% 50m KT B TRk A~ fHES 10 B 44 Fb 88

5 & 9—10m 50m K i By RSCE 1= 9 B 45 ¥ 81

6 &L 9—10m 50m K WiE RSCHE 1= 10 B 45 ¥ 87

7 & 9—10 50m  THkE OB NVEYFURATEE 9 B 46 b 55

8 #Zf 9—10 50m  THKE Al HhE Ht®m</1xTSC 10 B 47 F 18

1 %Zf 9—10% 50m  FHkE M S55 A~ fHESE 90 OP 37 ® 41

ZF  9—10% 50m  FHikX M g A=Al 10 OP & F vy
No.106 B+ 50m k= S

1 B+ 9—10s% 50m  HIkE FEE R AP ARE 10 C 50 b 11

2 B+ 9—10m 50m KT Bl HK HtE~LxTSC 9 C 50 £ 89

1 B% 9—10i% 50m kX P! RSC& + 10 B 40 # 10

2 B+ 9—10m 50m KT JIE B A= 9 B 43 b 26

1 B% 9—10i% 50m kX INE ARV AEE 9 OP 41 b 37



No.l107 #F 50m kX

L — AP B
11— 125% o4 R
I &+ 11—12m% 50m  HIKE [N RSCE * 11 C 41 ¥
2 & 11—12%% 50m K NE BRA Ztm</1xTSC 11 C 46
3 & 11—I12i 50m  HIKE [ESE RSCEL 12 C 49 B
1 Z+ 11—12m 50m  HHkE miE A RSCEL 11 B 40 ¥
No108 ¥ 50m FHpk& R
1 B+ 11—125% 50m  HkE S ] RSCE + 12 C 46 b
2 B+ 11—12%% 50m Ik FEE R RSCE+ 11 C 49 Fb
1 B+ 11—12/% 50m  HkE F B RSC& + 12 B 35 b
2 B+ 11—12 50m Ik B RSC& + 12 B 36 b
3 BF 11—12 50m  HIKE = FEA JVRYRAEEE 11 B 39 #
4 BT 11—12% 50m Tk IR RSC& + 11 B 41
No.110 B¥+ 50m kX N
- L —RA
PR 54 S
L5+ AL 50m HERE IERESS RSCHE L 14 OP 43 B

o By e 50m WKE i R RSCEE 13 OP 48



Nolll ZF 200m HEHEFE

9% —101% SA DL — AR
1 ¥ 9—10m 200m HHE B X BhwEm~/1xTSC 10 OP 2 4 34 # 17
Nol12 B¥ 200m BEHE R
1 B+ 9—10s% 200m HHE TERE R AN S 10 OP 2 4y 35 % 66
Nol13 ZF 200m HHE R
115 —128% SA DL — AR
T &1 1l—12m 200m B HIF ESETSE T~ WS 11 B 2 & 40 W 47
2 &Y 11—125% 200m HHEFE R K A= 12 B2 4y 45 B 04
1 & 11—12 200m HHAHE L HAE A= 11 OP 2 4y 20 # 01
2 &F 11—125% 200m HHEFE HE Fis A= 11 OP 2 4y 37 # 48
Nol14 B+ 200m BEHE R
1 BF 11—I128% 200m HHAFE W Ah~Eds 12 B 2 4y 35 B 15
2 B 11—128 200m HHFE E 5 RSC& + 11 B 2 4y 41 # 50
1 BF 11—125% 200m ik 1= W Ah~ B 11 OP 2 43 25 #b 34
2 By 11—12i% 200m HEE B BE Ab=HEBSE 12 OP 2 4y 47 # 74
Noll5 ZF 200m HHE R
HEAgE HA DL — AP
1 Z+ 54 200m HHE NI =3 FHEERSC 14 OP 2 53 47 ¥ 31
No116 B+ 200m BEHEE R
A B A KL — AU B
1 B+ EAgE 200m FkE NITIE=FS A~ S 12 OP 2 4y 17 %) 83
o By A4 200m HEE A BE VAP UARE 16 OP 2 4y 22 #b 47
3 By A 200m HEE Fititk B AU 14 OP 2 4y 28 # 81



No.117 J&4& 100m JEBEVL— .
N AL —RA
1 JBRE  SmLLT 100m RAVL— LR ATEERA LR A EEE 8 1 4 10 # 99
2 BRAE SWLT 100m REAUL— </LxSC BB~/ xTSC 8 1 4y 18 # 15
3 RA SWLUT 100m REAUL— IVRY U RIREB L RY R EHE 8 1 4y 27 # 03
No.l18 BE 100m EAUL— .
Ll —R
5% — 107% 714 R
1 J&E 9—10 100m B&JL— IV ATH R IVFRY U ATRE 10 1 43 08 # 00
2 BE 9—10 100m EAUL— <L TSC 'BHEE~/LxTSC 10 1 4 12 # 38
No.119 JE4E 100m JEBEVL— .
AL —RA
11— 125% oA R
11—12k% 100m JEHVL— ~JLTSC B LE~/LxTSC 12 OP 1 4y 06 f 11

1 RA



